
BCS Motor mowers, BCS 2-wheel tractors - ROT.CULTIV. BONNET 

009_3_2497 - ROT.CULTIV. BONNET
04/06/2021

Page 1 / 2



BCS Motor mowers, BCS 2-wheel tractors - ROT.CULTIV. BONNET 

009_3_2497 - ROT.CULTIV. BONNET
04/06/2021

Page 2 / 2

Pos. Id Q.ty Description Note

31112166 31112166 SCREW TE C/F M8X25 DIN 6921 8G

31112171 31112171 SCREW TE C/F M8X16 DIN 6921

31112294 31112294 SCREW TE M12X85 UNI 5737

31241084 31241084 SELFLOCK NUT M8 6S

31241121 31241121 SELFLOCK NUT M12

31411104 31411104 WASHER 10,5x18

31423130 31423130 SPRING WASHER EL 13 DIN 137-B

34110028 34110028 SPLIT PIN A3X15 UNI 1336

35211080 35211080 SEEGER RING E 8 UNI 7434

55102714 55102714 FLAT KNOB

55142109 55142109 BUSHING

56152053 56152053 PIN

56159372 56159372 COMPLETE ROD

56159383 56159383 TILTING INDICATOR

58052050 58052050 SPRING

59049863 59049863 ROD

59059356 59059356 TILTING INDICATOR

59059360 59059360 TILTING INDICATOR

59059365 59059365 BONNET

59059370 59059370 COMPLETE FLAP - ROTARY HOE 46

59059379 59059379 SIDE PANEL

59059380 59059380 SIDE PANEL

59059384 59059384 BONNET

59059385 59059385 BONNET


